Profit-Maximizing Output Level 





Consider a firm under Perfect Competition. The market price P = $25.
a. Fill in the table below.

b. State the profit-maximizing output rule. According to the table, at what output level does the firm maximum profit?

c. In this case, is there a specific unit of output for which the rule holds exactly? Carefully restate the rule, so that it appropriately reflects the information in the table.

Explain in one sentence the intuition behind your answer.

d. What can you add to the rule for a price-taker firm?

	Q
	TR
	MR
	TC
	MC
	PROFIT

	0
	 
	 
	20
	 
	 

	1
	 
	 
	30
	 
	 

	2
	 
	 
	35
	 
	 

	3
	 
	 
	45
	 
	 

	4
	 
	 
	65
	 
	 

	5
	 
	 
	95
	 
	 

	6
	 
	 
	135
	 
	 





















































